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BIHAR BOARD QUESTION PAPER  

हिन्दी माध्यम / ENGLISH MEDIUM  

INTERMEDIATE EXAMINATION - 2020 
इंटरमीडिएट परीक्षा - 2020 

(ANNUAL / वार्षिक)  

BUSINESS ECONOMICS  
सभम : 3 घॊटे 15 मभनट]              [ऩरू्णांक : 100 

SECTION - A 

प्रश्न सॊख्मण 1 से 60 तक के प्रत्मेक प्रश्न के सणथ चणय विकल्ऩ ददए गए हैं जजनभें से 
एक सही है। ककनहीॊ 50 प्रश्नों के उत्तय अऩने द्िणयण चनेु गए सही विकल्ऩ को OMR 
शीट ऩय चचजननत कयें।  

 

1. भौदिक नीतत कण सम्फनध है। 

(a) सणिवजतनक व्मम से  

(b) कयों से 

(c) सणिवजतनक ऋर् से 

(d) खुरे फणजणय की किमणओॊ से 

 

2. बणयतीम फैंककॊ ग प्रर्णरी कण सॊयऺक कौन है ?  

(a) रयजिव फैंक ऑप इजडडमण 

(b) स्टेट फैंक ऑप इजडडमण 

(c) मतुनट ट्रस्ट ऑप इजडडमण 

(d) बणयतीम जीिन फीभण तनगभ 
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3. "ऩतूतव स्िमॊ भणॉग कण सजृन कयती है।" ककसने प्रततऩणददत ककमण ? 

(a) जे० फी० से 

(b) जे. एस. मभर  

(c) कीनस  

(d) रयकणडो  

 

4. कीनस कण योजगणय मसद्धणनत तनम्नमरखखत भें ककस ऩय तनबवय है ? 

(a) प्रबणिऩरू्व भणॉग  

(b) ऩतूतव 

(c) उत्ऩणदन ऺभतण  

(d) इनभें से कोई नहीॊ 

 

5. कौन-सण कथन सत्म है ? 

(a) MPC + MPS = 0 

(b) MPC + MPS < 1 

(c) MPC + MPS = 1 

(d) MPC + MPS > 1 

 

6. ककसी िस्तु की भणनिीम आिश्मकतण को सनतुष्ट कयने की ऺभतण है 

(a) उऩबोग 

(b) उऩमोचगतण 

(c) गुर् 

(d) रुचच 
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7. ककस प्रकणय की िस्तुओॊ के भलु्म भें कभी होने से भणॉग भें िदृ्चध नहीॊ होती ?  

(a) आिश्मक िस्तुएॉ  

(b) आयणभदणमक िस्तुएॊ  

(c) विरणमसतण िस्तुएॉ  

(d) इनभें से कोई नहीॊ  

 

8. आिश्मक िस्तुओॊ की भणॉग की रोच होती है  

(a) शनूम  

(b) असीमभत 

(c) इकणई से अचधक  

(d) इकणई से कभ  

 

9. मदद ककसी िस्तु भलू्म  भें 40% ऩरयितवन के कणयर् भणॉग भें 60% ऩरयितवन हो, तो 
भणॉग की कीभत रोच क्मण होगी ? 

(a) 0:5 

(b) -1.5 

(c) 1 

(d) 0 

 

10. गोसेन कण प्रथभ तनमभ भें कौन-सण है ?  

(a) भणॉग कण तनमभ 

(b) सीभणनत उऩमोचगतण ह्रणस तनमभ  

(c) सभसीभणनत उऩमोचगतण तनमभ 

(d) उऩबोक्तण की फचत 
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11. स्पीततक अनतयणर को ठीक कयने के मरए भौदिक उऩणम कौन-से हैं ? 

(a) फैंक दय भें िदृ्चध 

(b) खुरे फणजणय भें प्रततबतूतमणॉ फेचनण 

(c) नकद कोष अनऩुणत भें िदृ्चध  

(d) इनभें से सबी 

 

12. अत्मचधक भणॉग उत्ऩनन होने के तनम्न भें कौन-से कणयर् हैं ? 

(a) सणिवजतनक व्मम भें िदृ्चध  

(b) भिुण की ऩतूतव भें िदृ्चध 

(c) कयों भें कभी 

(d) इनभें से सबी 

 

13. यणजकोषीम नीतत के अनतगवत ककसे शणमभर ककमण जणतण है ? 

(a) सणिवजतनक व्मम  

(b) कय 

(c) सणिवजतनक ऋर्  

(d) इनभें से सबी 

 

14. फजट भें हो सकतण है  

(a) आगभ घणटण 

(b) वित्तीम घणटण 

(c) प्रणयजम्बक घणटण 

(d) इनभें से सबी 
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15. तनम्न भें कौन-सण अप्रत्मऺ कय है ?  

(a) आम कय  

(b) सम्ऩवत्त कय  

(c) उत्ऩणदन शलु्क 

(d) उऩहणय कय 

 

16. सीभणनत उऩमोचगतण कैसे तनकणरते हैं ? 

(a) ∆𝑇𝑈
∆Q

  

(b) ∆𝑀𝑈

∆Q
 

(c) ∆𝑄

∆TU  
 

(d) ∆𝑄

∆MU  
 

 

17. चगकपन िस्तुओॊ के मरए भणॉग की कीभत रोच होती है 

(a) ऋर्णत्भक  

(b) धनणत्भक  

(c) शनूम  

(d) इनभें से कोई नहीॊ 

 

18. भणॉग परन को तनम्नमरखखत भें कौन-सण सभीकयर् व्मक्त कयतण है ? 

(a) Px 

(b) Dx = Px  

(c) Dx = f (Px) 

(d) इनभें से कोई नहीॊ 
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19. तटस्थतण िि कण झकुणि होतण है। 

(a) दणमें से फणमें  

(b) फणमें से दणमें 

(c) (a) औय (b) दोनों 

(d) इनभें से कोई नहीॊ  

 

20. उऩबोक्तण कण सनतुरन उस बफनद ुऩय होतण है जफ 

(a) सीभणनत उऩमोचगतण = भलू्म  

(b) सीभणनत उऩमोचगतण < भलू्म  

(c) सीभणनत उऩमोचगतण > भलू्म 

(d) इनभें से कोई नहीॊ 

 

21. विकणसशीर अथवव्मस्थण के मरए कौन-सण फजट सफसे उऩमकु्त होतण है ? 

(a) घणटे कण फजट  

(b) सनतुमरत फजट 

(c) आचधक्म कण फजट 

(d) इनभें से सबी 

 

22. जस्थय वितनभम दय कण गुर् है  

(a) ऩूॉजी गततशीरतण को फढणिण 

(b) ऩूॉजी को फणहय जणने से योकनण 

(c) सट्टेफणजी को योकनण 

(d) इनभें से सबी 
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23. ऩूॊजी खणते के अनतगवत तनम्नमरखखत भें ककसे शणमभर ककमण जणतण है ? 

(a) एकऩऺीम अॊतयर् 

(b) तनजी सौदे  

(c) विदेशी प्रत्मऺ वितनमोग 

(d) (b) औय (c) दोनों 

 

24. बगुतणन शषे कण घटक है  

(a) चणर ूखणतण 

(b) ऩूॉजी खणतण 

(c) (a) औय (b) दोनों 

(d) इनभें से कोई नहीॊ 

 

25. विदेशी वितनभम दय कण तनधणवयर् होतण है। 

(a) सयकणय द्िणयण 

(b) भोर-तोर द्िणयण 

(c) विश्ि फैंक द्िणयण  

(d) भणॉग एिॊ ऩतूतव की शजक्तमों द्िणयण 

 

26. अथवव्मिस्थण की केनिीम सभस्मण कौन-सी है ? 

(a) सणधनों कण आिडटन 

(b) सणधनों कण कुशरतभ उऩमोग  

(c) आचथवक विकणस 

(d) इनभें से सबी 
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27. आचथवक किमणओॊ के तनम्न भें से कौन-सण एक प्रकणय है ? 

(a) उत्ऩणदन  

(b) उऩबोग 

(c) वितनभम ि तनिेश  

(d) इनभें से सबी  

 

28. आचथवक सभस्मण भरूत् ककस तथ्म की सभस्मण है ? 

(a) चनुणि की  

(b) उऩबोक्तण चमन की  

(c) पभव चमन की 

(d) इनभें से कोई नहीॊ 

 

29. उस िि कण नणभ जो आचथवक सभस्मण दशणवतण है, हैं 

(a) उत्ऩणदन िि  

(b) भणॉग िि 

(c) उदणसीनतण िि 

(d) उत्ऩणदन सम्बणिनण िि 

 

30. एक सभणजिणदी अथवव्मिस्थण कण भरू उद्देश्म होतण है 

(a) अचधकणचधक उत्ऩणदन 

(b) आचथवक स्ितनरतण 

(c) भनुणपण कभणनण  

(d) अचधकतभ रोक कल्मणर् 
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31. जफ औसत रणगत घट यही हो तो सीभणनत रणगत, औसत रणगत की तुरनण भें 
ककतनी होती है ? 

(a) MC > AC 

(b) MC = AC 

(c) MC ≤ AC 

(d) MC ≠ AC 

 

32. औसत ऩरयितवनशीर रणगत क्मण है ? 

(a) TVC x Q  

(b) TVC + Q 

(c) TVC − Q 

(d) TVC ÷ Q 

 

33. भौदिक रणगत भें तनम्नमरखखत भें ककसे सजम्भमरत ककमण जणतण है ? 

(a) सणभणनम रणब  

(b) व्मक्त रणगत  

(c) अव्मक्त रणगतें 

(d) इनभें से सबी 

 

34. अिसय रणगत कण िकैजल्ऩक नणभ है। 

(a) आचथवक रणगत  

(b) सनतुरन भलू्म  

(c) सीभणनत रणगत  

(d) औसत रणगत  
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35. ककस फणजणय भें उत्ऩणद विबेद ऩणमण जणतण है ?  

(a) शदु्ध प्रततमोचगतण 

(b) ऩरू्व प्रततमोचगतण 

(c) एकणचधकणय 

(d) एकणचधकणय प्रततमोचगतण 

 

36. स्थणमी ऩूॉजी कण उऩबोग क्मण है ? 

(a) ऩूॉजी तनभणवर्  

(b) भलू्म ह्रणस  

(c) तनिेश 

(d) इनभें से सबी 

 

37. तनम्नमरखखत भें से कौन-सण भिुण कण कणमव नहीॊ है ? 

(a) वितनभम कण भणध्मभ  

(b) कीभत जस्थयतण 

(c) भलू्म-सॊचम 

(d) रेखण की इकणई 

 

38. व्मणिसणतमक फैंक कण एजेनसी कणमव क्मण है ? 

(a) ऋर् देनण  

(b) जभण स्िीकणय कयनण  

(c) ट्रस्टी कण कणमव कयनण 

(d) रणकय सवुिधण देनण 
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39. तनम्नमरखखत भें ककसके अनसुणय “भिुण िह है जो भिुण कण कणमव कयें ?  

(a) प्रो. थॉभस  

(b) हणटवरे विदसव 

(c) निणटे्र 

(d) कीनस  

 

40. रयजिव फैंक ऑप इजडडमण की स्थणऩनण हुई 

(a) 1947 भें 

(b) 1935 भें 

(c) 1937 भें  

(d) 1945 भें 

 

41 . उऩबोक्तण व्मिहणय कण अध्ममन ककमण जणतण है।  

(a) सकू्ष्भ अथवशणस्र भें 

(b) आम विश्रेषर् भें  

(c) सभजष्ट अथवशणस्र भें 

(d) इनभें से कोई नहीॊ 

 

42. ककसके अनसुणय अथवशणस्र भणनि कल्मणर् कण विऻणन है ? 

(a) ए० भणशवर  

(b) ऩॉर समै्मएुल्सन  

(c) जे० एस० मभर 

(d) एडभ जस्भथ 
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43. तनम्न भें कौन-सण उत्ऩणदन के सणधन है ? 

(a) बमूभ 

(b) श्रभ 

(c) ऩूॉजी 

(d) इनभें से सबी 

 

44. व्मजष्ट अथवशणस्र भें सजम्भमरत होती है 

(a) व्मजक्तगत इकणई 

(b) छोटी-छोटी इकणई 

(c) व्मजक्तगत भलू्म तनधणवयर् 

(d) इनभें से सबी 

 

45. तनम्नमरखखत भें कौन-सण कथन सत्म है ?  

(a) भनषु्म की आिश्मकतणएॉ अननत होती हैं  

(b) सणधन सीमभत होते हैं 

(c) दरुवबतण की सभस्मण चमन को जनभ देती है। 

(d) इनभें से सबी 

 

46. तनम्नमरखखत भें से कौन-सण यणष्ट्रीम आम को प्रबणवित कयतण है ? 

(a) िस्तु एिॊ सेिण कय 

(b) तनगभ कय 

(c) आचथवक सहणमतण  

(d) इनभें से कोई नहीॊ 
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47. क्मण सत्म है ? 

(a) GNP = GDP + ह्रणस  

(b) NNP = GNP + ह्रणस  

(c) NNP = GNP + ह्रणस 

(d) GNP = NNP - ह्रणस 

 

48. तनम्नमरखखत भें से कौन-सण स्टॉक है ? 

(a) सम्ऩवत्त 

(b) फचत 

(c) तनमणवत  

(d) रणब 

 

49. योजगणय मसद्धणनत कण सम्फनध है. 

(a) स्थतैतक अथवशणस्र से  

(b) व्मजष्ट अथवशणस्र से 

(c) सभजष्ट अथवशणस्र से 

(d) इनभें से कोई नहीॊ 

 

50. रणब कण तनम्नमरखखत भें कौन-सण तत्ि है ?  

(a) रणबणॊश 

(b) अवितरयत रणब  

(c) तनगभ रणब कय  

(d) इनभें से सबी 
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51. फणजणय जस्थतत जजसभें िस्तु कण केिर एक िेतण होतण है, है 

(a) एकणचधकणय 

(b) भोनोप्सोनी 

(c) द्िमणचधकणय 

(d) इनभें से कोई नहीॊ 

 

52. ककस फणजणय भें औसत आम सीभणनत आम के फयणफय होती है ? 

(a) ऩरू्व प्रततमोचगतण  

(b) अल्ऩणचधकणय  

(c) अऩरू्व प्रततमोचगतण 

(d) एकणचधकणय 

 

53. तनम्नमरखखत भें ककसने कीभत तनधणवयर् प्रकिमण भें 'सभम तत्ि' कण विचणय प्रस्तुत 
ककमण ?  

(a) रयकणडों 

(b) िणरयस  

(c) भणशवर 

(d) जे. के. भेहतण 

 

54. ककसी िस्तु कण भलू्म तनधणवयर् होतण है।  

(a) भणॉग के द्िणयण 

(b) ऩतूतव के द्िणयण 

(c) भणॉग एिॊ ऩतूतव दोनों के द्िणयण  

(d) सयकणय द्िणयण 
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55. प्रचथमभक ऺेर भें सजम्भमरत है 

(a) कृवष 

(b) खुदयण व्मणऩणय 

(c) रघ ुउद्मोग 

(d) इनभें से सबी 

 

56. िस्तु की ऩतूतव के तनधणवयक घटक कौन से हैं?  

(a) िस्तु की कीभत 

(b) सम्फजनधत िस्तुओॊ की कीभत 

(c) उत्ऩणदन सणधनों की कीभत 

(d) इनभें से सबी 

 

57. ऩतूतव के तनमभ को तनम्नमरखखत भें कौन-सण परन प्रदमशवत कयतण है ? 

(a) S =  f (P) 

(b) S =  f  
1

P 
   

(c) S =  f (Q) 

(d) इनभें से कोई नहीॊ 

 

58. एकणचधकणय एिॊ एकणचधकणयी प्रततमोचगतण भें होतण है 

(a) AR = MR 

(b) AR > MR  

(c) AR < MR 

(d) इनभें से कोई नहीॊ 
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59 उत्ऩणदन परन भें उत्ऩणदन ककसकण परन है ? 

(a) कीभत कण 

(b) उत्ऩणदन के सणधनों कण 

(c) कुर व्मम कण 

(d) इनभें से कोई नहीॊ 

 

60. जो चि ऩहरे फढतण है कपय जस्थय होकय घटनण आयम्ब कयतण है, िह चि कहरणतण 
है। https://www.bsebstudy.com 

(a) APP 

(b) MPP 

(c) TPP 

(d) इनभें से सबी 

 

SECTION - B 

 

प्रश्न सॊख्मण 1 से 27 रघ ुउत्तयीम हैं। ककनहीॊ 15 प्रश्नों के उत्तय दें। प्रत्मेक के मरए 2 
अॊक तनधणवरयत है। 

 

1. नकद कोष अनऩुणत कण क्मण अथव है ?  

2. यणजकोषीम नीतत कण क्मण अथव है 

3. व्मणऩणय चि की ऩरयबणषण मरखें।. 

4. खुरी अथवव्मिस्थण क्मण है ?  

5. प्रत्मऺ कय के दो उदणहयर् दें। 

6. भिुण स्पीतत क्मण है ?  
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7. ऩूॉजीिणदी अथवव्मिस्थण को ऩरयबणवषत कीजजए।  

8. एक अथवव्मिस्थण की दो आधणयबतू आचथवक किमणएॉ फतणइए। 

9. अिसय रणगत क्मण है ? 

10. पभव के सणम्म की आिश्मक दशणएॉ स्ऩष्ट कीजजए।  

11. ऩरू्व प्रततमोचगतण औय एकणचधकणय भें दो अनतय मरखखए। 

12. फणजणय कीभत एिॊ सणभणनम कीभत की तुरनण कीजजए। 

13. इच्छण एिॊ भणॉग भें दो अनतय फतणइए। 

14. सनतुरन कीभत की ऩरयबणषण फतणइए। 

15. एकणचधकणय उत्ऩनन होने के दो प्रभखु कणयर् फतणइए। 

16. कुर उऩमोचगतण कण सरू मरखें। 

17. उदणसीनतण िि की दो विशषेतणएॉ मरखें। 

18. भणॉग कफ रोचदणय फनती है ? 

19. व्मणिसणतमक फैंक की दो विशषेतणएॉ फतणइए।  

20. जस्थय रणगत एिॊ ऩरयितवनशीर रणगत भें दो अनतय फतणइए। 

21. सणख तनभणवर् से क्मण आशम है ?  

22. स्टॉक तथण प्रिणह भें बेद के दो उदणहयर् दीजजए। 

23. यणष्ट्रीम आम औय तनजी आम भें दो अनतय फतणइए । 

24. शे्रष्ठ भिुण के दो गुर् फतणइए। 

25. बगुतणन सनतुरन से आऩ क्मण सभझते हैं ? 

26. वितनभम दय के तनधणवयर् की दो विचधमों को फतणइए। 

27. सयकणयी फजट के ककनहीॊ दो उद्देश्मों को मरखें। 

 

प्रश्न सॊख्मण 28 से 35 दीघव उत्तयीम प्रकणय हैं। ककनहीॊ 4 प्रश्नों के उत्तय दें। प्रत्मेक प्रश्न 
के मरए 5 अॊक तनधणवरयत हैं। 
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28. सकू्ष्भ अथवशणस्र एिॊ व्मणऩक अथवशणस्र भें अनतय स्ऩष्ट कीजजए।  

29. सभ-सीभणनत उऩमोचगतण कण तनमभ क्मण है ? सभझणइए । 

30. एकणचधकणय के अनतगवत भलू्म तनधणवयर् कैसे होतण है ? सभझणइए | 

31. यणष्ट्रीम आम की गर्नण कयने के मरए व्मम प्रर्णरी की व्मणख्मण कीजजए। 

32. िस्तु वितनभम प्रर्णरी की ऩणॉच कदठनणइमों को सभझणइए ।  

33. भणॉग की रोच के विमबनन प्रकणयों को व्मणख्मण कयें। 

34. व्मणऩणरयक फैंक के विमबनन कणमों कण उल्रेख कयें। 

35. भणॉग िि फणमें से दणमें नीच ेक्मों चगयतण है ? सभझणइए । 
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BIHAR BOARD QUESTION PAPER  

INTERMEDIATE EXAMINATION - 2020 
इंटरमीडिएट परीक्षा - 2020 

(ANNUAL / वार्षिक)  

BUSINESS ECONOMICS  
Time: 3 Hours 15 Minutes]             [Full Marks: 100 

SECTION-A 

Question Nos. 1 to 60 have four options, out of which only one is correct. Answer any 50 

questions. You have to mark your selected option on the OMR Sheet. 

 

1. Monetary policy is related to 

(a) Public expenditure  

(b) Taxes 

(c) Public debt 

(d) Open market operation 

 

2. Who is the custodian of Indian Banking System?  

(a) Reserve Bank of India  

(b) State Bank of India 

(c) Unit Trust of India 

(d) LIC of India  

 

3. "Supply creates its own demand". Who gave this law? 

(a) J. B. Say  

(b) J. S. Mill 

(c) Keynes 

(d) Ricardo 



https://www.bsebstudy.com 

 

4. On which factor does Keynesian theory of Employment depend? 

(a) Effective demand  

(b) Supply 

(c) Production efficiency 

(d) None of these 

 

5. Which statement is true? 

(a) MPC + MPS = 0 

(b) MPC + MPS < 1 

(c) MPC + MPS = 1 

(d) MPC + MPS > 1 

 

6. The capability of a commodity to satisfy human wants is 

(a) Consumption 

(b) Utility  

(c) Quality  

(d) Taste 

 

7. In which type of goods, price does not make any increase in demand? 

(a) Necessity goods 

(b) Comfort goods 

(c) Luxury goods 

(d) None of these 

 

8. Elasticity of demand for necessary goods is 

(a) zero 

(b) unlimited 

(c) greater than unity 

(d) less than unity 
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9. What is the price elasticity of demand, if the demand for a good changes by 60% due 

to 40% change in price? 

(a) 0.5 

(b) -1.5 

(c) 1 

(d) 0 

 

10. Which is the first law of Gossen? 

(a) Law of Demand 

(b) Law of Diminishing Marginal Utility 

(c) Law of Equimarginal Utility 

(d) Consumer's surplus 

 

11. Which monetary measure is to be adopted in correcting inflationary gap? 

(a) Increase in bank rate  

(b) Selling of securities in open market 

(c) Increase in cash reserve ratio 

(d) All of these 

 

12. What is/are the reason (s) of excess demand?  

(a) Increase in public expenditure 

(b) Increase in money supply 

(c) Decrease in taxes 

(d) All of these 

 

13. Which of the following is included in Fiscal policy? 

(a) Public expenditure 

(b) Tax 

(c) Public debt 

(d) All of these 

 



https://www.bsebstudy.com 

14. Budget may include 

(a) Revenue deficit 

(b) Fiscal deficit  

(c) Primary deficit 

(d) All of these 

 

15. Which of the following is indirect tax ? 

(a) Income tax  

(b) Wealth tax 

(c) Excise duty 

(d) Gift tax 

 

16. How do we calculate marginal utility ? 

(a) 
∆𝑇𝑈

∆𝑄
 

(b) 
∆𝑀𝑈

∆𝑄
 

(c) 
∆𝑄

∆𝑇𝑈
 

(d)  
∆𝑄

∆𝑀𝑈
 

 

17. For Giffen goods, price elasticity of demand is 

(a) Negative  

(b) Positive 

(c) Zero  

(d) None of these 

 

18. Demand function is expressed by which equation ?  

(a) Px 

(b) Dx = Px 

(c) Dx = f(px) 

(d) None of these 



https://www.bsebstudy.com 

 

19. Indifference curve slopes 

(a) from right to left. 

(b) from left to right  

(c) Both (a) and (b) 

(d) None of these 

 

20. Consumer's equilibrium takes at a point where  

(a) MU = Price 

(b) MU < Price  

(c) MU > Price 

(d) None of these 

 

21. Which of the following budgets is most suitable for developing economies ?  

(a) Deficit budget 

(b) Balanced budget 

(c) Surplus budget 

(d) All of these 

 

22. Fixed exchange rate has which of the following merits? 

(a) Promotes capital movement  

(b) Prevents capital outflow 

(c) Prevents speculation  

(d) All of these in  

 

23. Which of the following is included in Capital Account? 

(a) Unilateral transfer 

(b) Private transactions  

(c) Foreign direct investment 

(d) Both (a) and (c) 
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24. The component(s) of balance of payment is/are 

(a) Current Account 

(b) Capital Account 

(c) Both (a) and (b) 

(d) None of these  

 

25. Foreign exchange rate is determined by 

(a) Government  

(b) Bargaining 

(c) World Bank 

(d) Demand and supply forces 

 

26. Which is a central problem of an economy? 

(a) Allocation of resources 

(b) Best use of resources 

(c) Economic development  

(d) All of these 

 

27. Which of the following is a type of economic activity? 

(a) Production 

(b) Consumption 

(c) Exchange and investment 

(d) All of these 

 

28. To which factor, economic problems is basically related? 

(a) Choice  

(b) Consumer's selection 

(c) Firm selection 

(d) None of these  
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29. The name of the curve which shows economic problem is 

(a) Production curve  

(b) Demand curve  

(c) Indifference curve 

(d) Production possibility curve 

 

30. The main objective of a socialist economy is 

(a) Maximum production  

(b) Economic freedom 

(c) Earning profit 

(d) Maximum public welfare 

 

31. When average cost is decreasing what status marginal cost has, as compared to 

average cost? 

(a) MC > AC 

(b) MC = AC  

(c) MC ≤ AC 

(d) MC ≠ AC 

 

32. What is average variable cost? 

(a) TVC × Q 

(b) TVC + Q 

(c) TVC - Q  

(d) TVC ÷ Q 

 

33. Which of the following is included in monetary cost? 

(a) Normal profit 

(b) Explicit cost 

(c) Implicit cost 

(d) All of these 
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34. The alternative name of opportunity cost is 

(a) Economic cost 

(b) Equilibrium price 

(c) Marginal cost 

(d) Average cost  

 

35. In which market product differentiation is found? 

(a) Pure competition  

(b) Perfect competition  

(c) Monopoly 

(d) Monopolistic competition  

 

36. What is consumption of Fixed Capital? 

(a) Capital formation 

(b) Value depreciation 

(c) Investment 

(d) All of these 

 

37. Which of the following is not a function of money? 

(a) Medium of exchange 

(b) Price stability  

(c) Store of value 

(d) Unit of account 

 

38. Which is the agency function of commercial banks? 

(a) Advancing loan  

(b) Accepting deposits 

(c) Act as trustee 

(d) Locker facility 
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39. "Money is what money does". Who said it? 

(a) Prof. Thomas 

(b) Hartley Withers 

(c) Hawtrey  

(d) Keynes 

 

40. Reserve Bank of India was established in 

(a) 1947  

(b) 1935 

(c) 1937 

(d) 1945 

 

41. Consumer behaviour is studied in 

(a) Micro economics 

(b) Income analysis 

(c) Macro economics 

(d) None of these 

 

42. According to whom, Economics is a science of human welfare? 

(a) A. Marshall 

(b) Paul Samuelson 

(c) J. S. Mill 

(d) Adam Smith 

 

43. Which of the following is a factor of production?  

(a) Land 

(b) Labour 

(c) Capital 

(d) All of these 
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44. Micro economics includes 

(a) Individual unit 

(b) Small units 

(c) Individual Price Determination  

(d) All of these 

 

45. Which of the following statements is true? 

(a) Human wants are unlimited 

(b) Resources are limited 

(c) Scarcity problem gives birth to choice 

(d) All of these 

 

46. Which of the following affects national income? 

(a) Goods and Service Tax 

(b) Corporate Tax  

(c) Subsidies 

(d) None of these 

 

47. Which one is true? 

(a) GNP = GDP + Depreciation 

(b) NNP = GNP+ Depreciation 

(c) NNP = GNP - Depreciation 

(d) GNP = NNP - Depreciation 

 

48. Which of the following is a stock? 

(a) Wealth  

(b) Saving 

(c) Export  

(d) Profit 
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49. Employment Theory is related to 

(a) Static economics 

(b) Micro economics  

(c) Macro economics 

(d) None of these 

 

50. Which of the following is a component of profit? 

(a) Dividend 

(b) Undistributed profit  

(c) Corporate profit tax  

(d) All of these 

 

51. Market situation where there is only one buyer, is 

(a) Monopoly 

(b) Monopsony 

(c) Duopoly 

(d) None of these 

 

52. In which market is AR equal to MR ? 

(a) Perfect competition 

(b) Oligopoly 

(c) Imperfect competition 

(d) Monopoly 

 

53. Who gave the concept of Time Element' in price determination process? 

(a) Ricardo 

(b) Walrus 

(c) Marshall  

(d) J. K. Mehta 
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54. The price of a good is determined by 

(a) Demand 

(b) Supply 

(c) Both demand and supply 

(d) Government 

 

55. Primary sector includes 

(a) Agriculture  

(b) Retail trading 

(c) Small industries 

(d) All of these 

 

56. Determining factor of supply of goods is 

(a) Price of goods 

(b) Price of related goods 

(c) Price of factors of production 

(d) All of these 

 

57. Which of the following functions shows the laws of supply ? 

(a) S = f(P) 

(b) S = f  
1

𝑃
  

(c) S = f (Q)  

(d) None of these 

 

58. In monopoly and monopolistic competition 

(a) AR = MR  

(b) AR > MR 

(c) AR < MR 

(d) None of these  
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59. In production function, production is a function of 

(a) Price 

(b) Factors of production  

(c) Total expenditure 

(d) None of these. 

 

60. The cycle which increases first and after being constant starts to reduce is called 

(a) APP 

(b) MPP 

(c) TPP 

(d) All of these 

 

SECTION-B 

Question Nos. 1 to 27 are Short Answer Type. Answer any 15 questions, Each question 

carries 2 marks.  

1. What is meant by Cash Reserve Ratio ? 

2. What is meant by Fiscal Policy?  

3. Write the definition of trade cycle. 

4. What is open economy?  

5. Give two examples of direct tax. 

6. What is inflation? 

7. Define capitalistic economy. 

8. Mention two fundamental economic activities of an economy. 

9. What is opportunity cost? 

10. Explain the necessary conditions of a firm's equilibrium.  

11. Write two differences between Perfect competition and Monopoly.  

12. Make a comparison between Market price and Normal price. 
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13. Mention two differences between Desire and Demand. 

14. Define equilibrium price.  

15. Mention two main reasons of appearance of monopoly.  

16. Write the formula of Total Utility. 

17. Write two properties of indifference curve.  

18. When does demand become elastic? 

19. Mention two characteristics of commercial bank.  

20. Mention two differences between Fixed cost and Variable cost. 

21. What is meant by credit creation? https://www.bsebstudy.com 

22. Give two examples of the differences between Stock and Flow.  

23. Mention two differences between national income and private income. 

24. State two qualities of good money.  

25. What do you mean by Balance of Payment? 

26. Mention two methods of determining exchange rate.  

27. Write any two objectives of government budget. 

 

Question Nos. 28 to 35 are Long Answer Type Questions. Answer any 4 questions. Each 

question carries 5 marks. 

28. Distinguish between micro and macro economics.  

29. What is law of equimarginal utility? Explain. 

30. How is price determined under monopoly? Explain.  

31. Explain the expenditure methods of calculating national income. 

32. Explain five difficulties of barter system. 

33. Discuss the different types of elasticity of demand.  

34. Explain the various functions of commercial banks. 

35. Why does demand curve slope downward from left to right? Explain. 
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